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1. AR A o] [ 12,272,000 12,272,000 12,272,000
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1.8t R RE49] 127,146,000 127,146,000 127,143,840
1.4 A 55149 127,146,000 127,146,000 127,143,840
1,929 61,326,000 61,326,000 61,324,540

Eabl = 61,324,540
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o g = 13,764,300
2. YL EFY 3,108,000 3,108,000 3,124,550
1AM SE SR 2,282,000 2,282,000 2,282,500
1AM RRSESE 2,282,000 2,282,000 2,282,500

g = 2,282,500
2. 71Et 4B EEFY 826,000 826,000 842,050
1.017H4=9] 452,000 452,000 452,850

o] 244 = 452,850
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et s = 389,200
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SR=CIE- Ry 7,311,000 7,311,000 7,311,920
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1.eAAY = 7,311,000 7,311,000 7,311,920
TAA S o= = 7,311,920
Al 4 A 701,307,000| 701,307,000, 701,317,680
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